Substitution and Forming Equations

If the value of x is 3 calculate the value of each of these expressions and then put them into pairs and hence form 6 linear equations which have the solution x = 3
	1

2x + 7 =
	2

1x + 10 = 



	3

3x – 2 =
	4

1x + 4 =

	5

5x – 2 =
	6

2x + 8 =

	7

4x + 2 =
	8

3x + 4 =

	9

3x + 1 =
	10

5x + 3 =  

	11

10x – 12 =
	12

2x + 4 =


Solutions

2x + 7 = 3x + 4


1 and 8



3x – 2 = 1x + 4


3 and 4

5x – 2 = 1x + 10


5 and 2

4x + 2 = 2x + 8


7 and 6

3x + 1 = 2x + 4


9 and 12

10x – 12 = 5x + 3


11 and 10
Linear Equations Level 6

All solutions should be laid out like this:

Example:




2x + 11 = 4x + 3



Take 2x from each side:
        11 = 2x + 3


Take 3 from each side:
          8 = 2x



Divide by 2:


          4 = x
(or x = 4)

1) 3x + 4 = 5x + 8

2) 4x + 6 = 5x + 1

3) 8x + 3 = 5x + 15

4) 2x + 9 = 11x - 9

5) 2x + 3 = 4x – 5

6) 3x – 3 = 2x + 2

7) 1x + 9 = 4x + 3

8) 7x – 8 = 2x + 22

9) 9x + 4 = 5x + 44

10) 3x + 5 = 4x – 7

11) 8x – 12 = 2x + 24

12) 1x + 23 = 5x – 1

13) 4x + 10 = 12x – 6

14) 4x – 5 = 2x + 11
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